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                                     (SEMESTER I, 1422-1423) FIRST MID-TERM

NOTE: Attempt all Questions.

Question: 1 (a) 
Let




     5x +     y -  2z  = -7 

   -2x +  3y + 4z   = 6

   3x  + 2 y + 6z   =  3.
i) Write the above system of equations in the form AX=B,

ii) Use elementary row operations to find A-1, and

iii)  Use A-1 to solve the above system of equations.   

         [10]

Question: 2(a) .  Solve the following system of equations





  x1  + 2x2  +     x3    -    x4  = 2





3x1  +   x2  -      x3   +  2x4  = 1





5x1 +  5x2 -  10 x3  + 13x4 = 7





- x1  -  3x2 +  4 x3    -   5x4  = -1 




[5]

(b)  If  A =
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            [4]

Question :3 . (a) If   




 x – y + 5z = 10




                
2x - y +  z  =  8                                 





5x       - 2z = 8
use Cramer’s rule to find the value of  z  





[4]

(b) Solve the determinantal equation if it is possible,
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[5]


Question:4. (a) Let A and B be two 5x5 matrices with det A = 3 , det B = -2 . Evaluate the  followings:    (i) det ( A2B-3At),   (ii) det(2A-1) + det (2 A)-1


[6]

                      (b) Given  
[image: image4.wmf]2

3

2

2

1

2

3

2

2

1

2

3

2

2

1

3

3

3

2

2

2

1

1

1

3

5

2

3

5

2

3

5

2

  

find

  

;

6

c

c

c

c

c

b

b

b

b

b

a

a

a

a

a

c

b

a

c

b

a

c

b

a

+

-

+

-

+

-

=

                                    
[6]

1-MID2001 Oct 2001     ‏9‏/12‏/2014  


_1064693520.unknown

_1064693865.unknown

_1064694104.unknown

_1064693483.unknown

